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Solve for x. Tim has a triangular flower Week 33
garden in his yard. Find the
-11+4+x= -7x—-8(—x+1) perimeter of the garden to the
nearest hundredth of a foot. ODOIDIDKD
QOO
- oPICPE
@] 3 OOIBOIOIDID
2 6 €6 66 )
o IO
= 7 OIOIBIOIDIED
OO
006 6 6 G 0,
00 @ @ @ G
*Good Things* *Gridded Response* OOISIOICIE
Simplify Find the distance between Week 32
points (5, 9) and (-7, -7).
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*Gridded Response* *Good Things* OOIDICIIC
Order the planets in order from The perimeter of the triangle Week 33
least to greatest according to below is 30 inches. How long, in
their diameter. inches, is CD?
Planet Mass (kg) O|DIDIDID
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Gridded

Wweek 32 Week 33 Response
Simplify Using the figure below: Week 32
mzZ1=7x+16 and
7a° \° m /£ 2=3x-6
<m> Find the value of x and the
measure of /1 and £2. ODIDIDID
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*Gridded Response* *Good Things* 606,06,
Makayla made a new triangular If w=-31 simplify: Week 33
flower bed in her yard. The side
lengths of her garden are 17 feet, —Jw + 200.
6 feet, and 11 feet. Is her garden a
right triangle? OIDIDIDID
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